N Parni lok. fady: 354.1,7 Typ jizdniho odporu: R Minimalni rychlost: 28 km/h
H
THida Hmotnost taZenych vozidel (t)
skionu §f 109 200 300 400 500 700 900
150 250 350 450 600 800 1000
I 79 | 75 | 71 | 68 | 65
I} 77 74 70 65 59 55 50 46
n 80 75 70 65 60 55 50 44 39 34 31
v 78 | 70 | 64 | 58 | 53 | 49 | 44 | 38 | 32 | 28
v 78 | 69 | 61 | 54 | 49 | 43 | 38 | 35 | 28
Vi 80 70 68 52 45 40 35 31 27
Vil 74 63 54 45 38 33 28
vii | 69 | 57 | 47 | 38 | 32 | 27
IX 63 51 41 33 27
Xl 58| 45 | 36 | 28
Xl | 54 | 40 | 32
m X f§ 49 | 37 | 28
=3 X1 45 33
8 XV | 41| 29
wl-_._ XV 38
m xvi | 34
= Parni lok. fady: 365.0 Typ jizdniho odporu: R Minimalni rychlost: 41 km/h
(Y]
m.... Hmotnost taZenych vozidel (t)
W Mn_m_ﬂ_ 100 | 1299 550 300 | 400 | 0o 600 | 0|89 | gg0 1000
nl...m : 87 82 78
. gs | so | 73 | 67 | 62 | 57
m 82 73 64 56 50 44




